Jvi

JVS

1

JVi

4 JV3

JV§

)
SO0S|UPLIFT we N 7~ sesueuet ik
g coren S % % 3 3
3 HIG — - . -
s16luPLIET E‘HJ | J ] Zess UPLER
‘ . ER (3) 2x12/SYP#2 FORCH ?'Fmen | (3)2x12 SYP§2 PORCH HEADER
N HS116 S MRy R | EEaaG| EERES ERET meens o ||kl et SIS S S i
- — k [ g 1~ S peAn ERED
rSEE PQRCH T DETAIL —— CONNECTION L=
GS1 AlL T
S 1 CJ3
GS2 A
o~
=
o .@ I
g3y . A . (2)STU RED N | /
SR E N J/
(5) STUDS CENTERED =
- UNDER TRUSS s b & gk n L
GM___ - [ all & o a
792|UPLIFT & E = 32 3 2 k < THIAZE
(2) STUDS CENTERED @ o §] E 0 el & g AT 1‘
UNDER TRUSS &2 a1 - - 5 -3 2
— ~ I
E AT6 & A 4‘ 4 [ /,x -
2 £ N/ =z
B G3 \ 'f \/ \\ | A rd
ﬂ____'____u dl = > ,-
G4 N y = E | @) 2%p2x6' 242k | = 5 i £z , l
o | e | | - o x|
- £ o [ ==
3 5 5 I (2) STUDS CENTERED \\ 5 g g E E E = o / % d
‘_ — ||/ UnoerTRUSS - \ GP gl 8 3 5 & 5| € s
@ — ——
GPG o § § B p k [0
TT@;gg?ﬂ —1 l Eg;;i; [— rd l; L L :;ﬁ:
ci & [ - g E il
& (2) §TUDS CENTERED [ | ///
2 | NMRTUSS ap | EJ9 .
cJ3 i o =
‘ |
CJ5 | [ Al —
I || i |//’ fl
| : p———
l ' 1
8 - /
\ n = ” e L 1
I g T T
< i
N H138 Bt | - B2 B ”I : : ?—_ |||__ Liht
i |'-- ’ [ \E Y = — _g
| ENGINEERED TRUSSE 3§ ¥ S |
N ATTACH HER TRUSS|UPL g \ S [ i
I (UPLIFT LOAD OVER|480 LB $HOWN S \ L ::ﬂ:
X
3 | 1
| ap N\ p | ul | 11l
g r . i I n____
] d sl ol 2 o ‘ !
I \\ &| o & | by Ei B "l b |
. = ~ M 2 | < q P | _ —+t
[ [ / It < | il
| r_./ . / I I / | [ 1:u
| e ] ; N | Al A : 1
T // R / “ : S i
™, o ™,
4 . W o s
_,// . /'/ ./_. 2
/ N, N
. _— , | A0 % |
,/ s || // 1| // . \\\ -
..... - — $ ; A . | 3 &
] / Pl - E N B
1l / PO T T | &S Jv3
L y //[ N s || 2 2 |
: b, 5
::::: A ==
e K /i P []
Qﬁ\ F g [: E B
P ] =} al =
Eﬂl : G . i ™
CJ3 ——— f [y I e - -
| 5 (2) 8TUDS QENT & 7 2 .
5 INDER TRUSS 2 2K &%
i 8 __% I < S [T J ™
-— == == AT Y PR s, W W B =EX=ES L
R | [ ] EE e FEBGEERGES BEREN =E8E=S N\ drims cearEReD
] NDER TRUSS
/ 48 L B & & &
3 1 g = s = i
= = [y i a 3 .
3 3 38 o G = o & = 8 g =
.é’_ B m | 2l 8 & = V1 3 2
o = = ==kEz==] Z=c=g=
59 @ 3 R j—f_:_____ . ==E==m— na:: =
Joa z
S35 — Oy =
2o £ e | —
Q 3 2
LaE ] g | 5 % 3 s

wl (2) 3/8° THD RODS

ANCHOR STEEL HEADER TO FOUNDATION
wl (2) 3/8" THD RODS

wk

o
“EQ 487 UPLIFT - 487 UPLIFT
< B == |
(2]
L 487 UPLIFT w 487 UPLIFT
(4) 2x6 JACK STUDS AND (2) 2x6 KING STé.!NDS—
ANCHOR STEEL HEADER TO FOUNDATI || 5 G  asrupuer .
i 3 1
I
I 1]
__ ED =fiii—=
W16X26 STEEL HEADER : i
WELDED @ EACH END \‘ i
TO COLUMN (BY OTHERS) 487 UPLIFT e - - - - N 487 UPLIFT X
wil (2) 2x6 SYP#2 TRUSS PLATE i A .
(2) 1/4" THRU BOLTS 1 é
AND WASHERS @ 24" OC 1 487 UPLII 487 UPLIFT
(ONE ON EACH SIDE OF VERT) ' _SBT UPLIFY 31
; 8
I 487 UPLIFT - _ 4sTUPLFT @
Q
4" STEEL COLUMN w/ £ |
6" x 12" x 3/4" BASE PLATE w | W -
WELDED TO COLUMN (BY OTHERS) : 487 UPLIFT } = :
(2) 314" ANCHORS wl SIMPSON SET : [ 3 I
QXY, 8° EMBEDMENT
il ! 487 UPLIFT 487 UPLIFT %
i R g
I =
W16X26 STEEL HEADER 1
WELDED @ EACH END L ~ 487 UPLIFT - & L 487 UPLIFT &
TO COLUMN (BY OTHERS) [ ; N
wl (2) 2x6 SYP#2 TRUSS PLATE | ®
(2) 1/4" THRU BOLTS 487 UPLIET
AND WASHERS @ 24" OC b=y 48TUPLIFT §
(ONE ON EACH SIDE OF VERT) i 2
I . @
S S = _ZE:.-: =
4" STEEL COLUMN w/ g
6" x 12" x 34" BASE PLATE 487 UPLIFT i = 8 = . 487 UPLIFT <
WELDED TO COLUMN (BY OTHERS) 1 A @
(2) 3/4" ANCHORS w/ SIMPSON SET : <
EPOXY, 8" EMBEDMENT 48T UPLIFT - 487 UPLIFT wi
Tt 3
] w
W16X26 STEEL HEADER————~ |————§— 487 UPLIFT 487 UPLIFT
WELDED @ EACH END I
TQ COLUMN (BY OTHERS) I H
wi (2) 2x6 SYP#2 TRUSS PLATE 487 UPLIFT 487 UPLIFT
(2) 1/4* THRU BOLTS ra - A
AND WASHERS @ 24" 0C i 1
(ONE ON EACH SIDE OF VERT) : P—— - — ”r:::
! il
I
4" STEEL COLUMN w/ L 487 UPLIFT w N qa7upiFr 0N
6" x 12" x 3/4" BASE PLATE = d
WELDED TO COLUMN (BY OTHERS) p
(2) 3/4" ANCHORS w/ SIMPSON SET B UBLIET
EPOXY, 8" EMBEDMENT : A UPLET LA S
I e
I 487 UPLIFT — 487 UPLIFT
W16X26 STEEL HEADER——————| !
WELDED @ EACH END Bt
TO COLUMN (BY OTHERS) ] ___ 487 UPLIFT B 487 UPLIFT
wl (2) 2x6 SYP#2 TRUSS PLATE v
(2) 1/4* THRU BOLTS I
AND WASHERS @ 24" OC i
(ONE ON EACH SIDE OF VERT) I "7 A V|12 S R—— . 487 UPLIFT
I
(4) 2x6 JACK STUDS AND (2) 2x6 KING STUDS — .- 487 UPLIET 487 UPLIFT

STRUCTURAL LAYOUT

SCALE: NOT TO SCALE

STRUCTURAL PLAN NOTES

ALL LOAD BEARING FRAME WALL & PORCH HEADERS
SHALL BE A MINIMUM OF (2) 2X10 SYP#2 (U.N.O.)

SN-1

ALL LOAD BEARING FRAME WALL HEADERS
SHALL HAVE (1) JACK STUD & (1) KING STUD
EACH SIDE (UN.O.)

SN-2

DIMENSIONS ON STRUCTURAL SHEETS
ARE NOT EXACT. REFER TO ARCHITECTURAL
FLOOR PLAN FOR ACTUAL DIMENSIONS

SN-3

PERMANENT TRUSS BRACING IS TO BE INSTALLED AT
LOCATIONS AS SHOWN ON THE SEALED TRUSS DRAWINGS.
LATERAL BRACING IS TO BE RESTRAINED PER BCSI1-03,
BCSI-B1, BCSI-B2, & BCSI-B3. BCSI-B1, BCSI-B2, & BCSI-B3
ARE FURNISHED BY THE TRUSS SUPPLIER, WITH THE SEALED
TRUSS PACKAGE

SN-4

WALL LEGEND

—%

1N
M
1
Ul

EXTERIOR WALL

| i | F—— INTERIOR NON-LOAD BEARING WALL
ZZZzz7Zy — Z T T Y2277 INTERIOR LOAD BEARING WALL w/ NO UPLIFT
B . INTERIOR LOAD BEARING WALL w/ UPLIFT

HEADER LEGEND

(2) 2X12X0',1J 1K je————HEADER/BEAM CALL-OUT (U.N.O.)

| O [

NUMBER OF KING STUDS (FULL LENGTH)
——NUMBER OF JACK STUDS (UNDER HEADER)

SPAN OF HEADER
SIZE OF HEADER MATERIAL
NUMBER OF PLIES IN HEADER

THREADED ROD LEGEND

®

INDICATES LOCATION OF:
1ST FLOOR 3/8" A307 ALL THREADED ROD

TOTAL SHEAR WALL SEGMENTS
INDICATES SHEAR WALL SEGMENTS

REQUIRED| ACTUAL
TRANSVERSE | 123.0' 187.5'

LONGITUDINAL | 114.5' 157.0'

CONNECTIONS, WALL, & HEADER DESIGN IS BASED
ON REACTIONS & UPLIFTS FROM TRUSS ENGINEERING
FURNISHED BY BUILDER. ANDERSON TRUSS CO. JOB# 11-209

REVISIONS

ARCHITECTURAL DESIGN SOFTWARE

WINDLOAD ENGINEER:

Mark Disasway, PE

No.53915, POB 868, Lake City, FL 32056,
386-754-5419

DIMENSIONS:

Stated dimensions supercede scaled
dimensions. Refer all questions to
Mark Disosway, P.E. for resolution,
Do not proceed without clarification,

COPYRIGHTS AND PROPERTY RIGHTS:
Mark Disosway, P.E. hereby expressly
reserves its common law copyrights and
property right in these instruments of service.
This document Is not to be reproduced, altered
or copied in any form or manner without first
the express written permission and consent

of Mark Disosway.

CERTIFICATION: | hereby certify that | have
examined this plan, and that the applicable
portions of the plan, relating to

wind engineering comply with section
R301.2.1, florida building code

residential 2007,

to the best of my knowledge.

LIMITATION; JKHis Hibigy f
building, gt \‘mem‘elld or one

A

-
.
»

i,

-\Q:(_ .‘ij{&ﬁ”."“ ryﬂ}‘

N PE. 53915 .

Bob Jordan
Residence

ADDRESS:
Hills of Windsor S/D
Lake City, Florida
Columbia County, FL

Mark Disosway P.E.
P.O. Box 868
Lake City, Florida 32056
Phone: (386) 754 - 5419
Fax: (386) 269 - 4871

PRINTED DATE:
May 04, 2012

DRAWN BY: STRUCTURAL BY:
Evan Beamsley

FINALS DATE:
2011-12-01

JOB NUMBER:
1111068

DRAWING NUMBER

S-3

OF 3 SHEETS




